D'1"9XD

PA6 TMIX'7I9 |I7"1 [A1Y :NAI710D o

A4(S5316) /A2 (SS304) / Carbon steel C1022:01 179210  »
1'¥2'09 / 30-40p 1I'TIDTINAD/5-8uZn - |70 o

CSK Hex
European npP'm /\ - . :
Approval EUROPEAN TEAL 1 n N 2 I : ; - i
TTIA |21y7 D'only N'71D
M10 M8 (kN) nin'w oniy M10 M8 (kN) 7w2 oniy
1.6 0.8 no'7y 6.2 3.0 no'7y
(b2 [ID2
35 1.7 mm 6.2 3.0 mm
0.6 04 N7y P72 1.8 1.2 no'7y el
0.6 04 mm ny 1.8 12 mm ny
0.5 0.3 no'7y 210X 1.6 1.0 no7y NID'X
0.5 0.3 mm 'DITIDO 1.6 1.0 mm 'DITIDO
1.0 - no'7y 710X 3.0 - no7y NID'X
1.0 - nm [1y'7 3.0 - mm [y'7

XX IYXIAY OIpnaA (120 DT 7y 0'00I2N 0'DDN DIININ*

DIV 0'PI'722 NMIpNa 1T

]21yN 101NR B”P2 NI |BP VIR N NITPYT7 Y N2IN1 NI9BY DY 21ID'X]) NP'9T X77 N NP7 (1
.GX-L |21y nX 01217 (2
12720 1212'0 3 §'oIN7I 17221120 NX 11207 (3

2N TR (1
.GX-L |21y nX 01217 (2
JI7M12 27120 X227 (3




D'D”pnI NIT'N

GX-L

rm——rarmen s

anin 1y NITR 0IR
1P miy nITp 0IR nim TIX 1P
THNIND /01712
nion nITp |ID12 nnn [ayn [y
opn 210'X2 D" D9 IXN
Sw tix ho do L do
(mm) (mm) (mm) (mm) (mm) (mm) (mm)
TX30 10 70 7-8 8 5.5x85 80 8 97005 GX-L M8x80
TX30 30 70 7-8 8 5.5x105 100 8 97006 GX-L M8x100
TX30 50 70 7-8 8 5.5x125 120 8 97007 GX-L M8x120
TX30 70 70 7-8 8 5.5x145 140 8 97035 GX-L M8x140
TX40 10 70 9-10 10 7x85 80 10 97008 GX-L M10x80
TX40 30 70 9-10 10 7x105 100 10 97009 GX-L M10x100
TX40 50 70 9-10 10 7x120 120 10 97010 GX-L M10x120
TX40 70 70 9-10 10 7x140 140 10 97011 GX-L M10x140
TX40 90 70 9-10 10 7x165 160 10 97012 GX-L M10x160
TX40 130 70 9-10 10 7x205 200 10 97013 GX-L M10x200
TX40 170 70 9-10 10 7x245 240 10 97014 GX-L M10x240
TX40 190 70 9-10 10 7x265 260 10 97015 GX-L M10x260

(GX-L M10x100 GG : XR2IT) DWN INX7 GG ["¥7 X1 .[IN{7'D 30-40 "I'TI9TINAD [11722 DAY DX ['TNY7 TWOX

GX-L Hex
0Ny nITp Wi
wIp iy NI W1 nmn NI P
THNIN /0711
nmaion NIy [Ib12 1N [y [y
o gnEe 0" DAY XM
Sw tix ho do L do
(mm) (mm) (mm) (mm) (mm) (mm) (mm)
13 10 70 9-10 10 8x80 80 10 97022 GX-L HEX M10x80
13 30 70 9-10 10 8x100 100 10 97023 GX-L HEX M10x100
13 50 70 9-10 10 8x120 120 10 97024 GX-L HEX M10x120
13 70 70 9-10 10 8x140 140 10 97025 GX-L HEX M10x140
13 90 70 9-10 10 8x160 160 10 97026 GX-L HEX M10x160
13 130 70 9-10 10 8x200 200 10 97027 GX-L HEX M10x200
13 170 70 9-10 10 8x240 240 10 97028 GX-L HEX M10x240
13 190 70 9-10 10 8x260 260 10 97029 GX-L HEX M10x260




GX-LSS316

s

aninay nITp 01
1P miy nITp 0IpP NI IR WwIp
TNNIND /01712
naion nimp [Ib22 nian [vn [y
opn NID'XA D’pn DM9 NN
SW tfix ho do (mm) L do
(mm) (mm) (mm) (mm) (mm) (mm)
TX40 10 70 9-10 10 7x85 80 10 97016 *GX-L M10x80 SS316
TX40 30 70 9-10 10 7x105 100 10 97017 GX-L M10x100 SS316
TX40 50 70 9-10 10 7x120 120 10 97018 GX-L M10x120 SS316
TX40 70 70 9-10 10 7x140 140 10 97019 GX-L M10x140 SS316
TX40 90 70 9-10 10 7x165 160 10 97020 GX-L M10x160 SS316
TX40 130 70 9-10 10 7x205 200 10 97021 *GX-L M10x200 SS316
TX40 170 70 9-10 10 7x245 240 10 98010 *GX-L M10x240 SS316
TX40 190 70 9-10 10 7x265 260 10 98011 *GX-L M10x260 SS316
JTNIM NINTN 197 +
GX-L Hex SS304
aninay nITp Wi Wwip
Wwip iy nmn NIX Wwip
THNID /01712 nTp
nion niImp N [yn [yn
opn 10X [ID22 n"pn D19 IX'N
SW thix ho do i) L do
(mm) (mm) (mm) (mm) (mm) (mm)
13 10 70 9-10 10 8x80 80 10 98030 *GX-L HEX M10x80 SS304
13 30 70 9-10 10 8x100 100 10 98031 GX-L HEX M10x100 SS304
13 50 70 9-10 10 8x120 120 10 98032 GX-L HEX M10x120 SS304
13 70 70 9-10 10 8x140 140 10 98033 GX-L HEX M10x140 SS304
13 90 70 9-10 10 8x160 160 10 98034 GX-L HEX M10x160 SS304
TNIM NINTN 197 *
21D |2X 19'N2 NnwIn 1a'N'7 SET GX-L
SET-20%7172 0'0"M19 n"pn D9 7IXN
8x100 112
GX-L M10x80 99001 SET GX-L
8x40x2 n'poT

0N [I17228x100 112
GX-L M10x80 99009 Don SET GX-L

———— o 1720 8x40x2 nvpoT

054-7976110 N”y2a D'TX N12N 0TIAN'7 NII9Y7 X1 ,ND0I11 N'7XVY '702



